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XEFEMAE=FREEHE - (HHx B x24h), CO2flHE  LiBEBENARENSHEE

FR2246E
HE%a |BIESFRNTEMFER IEH 4R 5H 6H 7R 8H 9R 108 11H 128 18 2R 3R =
FriEH |FB)ITH BEEHEKWh] 469 868 520 421 395 882 1,290 4,844
HA [10kW CO24iBE[t-C02] 0.17 0.31 0.18 0.15 0.14 0.31 0.46 1.72
REAE |50° BRI AR — — — — — 6.5% 11.7% 7.2% 5.7% 5.3% 13.1% 17.3% 9.5%
Eﬁlﬁﬁg EFHZZZEE 3FEJ7,23£|5§
HHE 4R 58 6H 7R 8H 9R 10AR 118 128 18 2H 3H =1
EEHEKWh] 1,139 1,029 1,010 1,035 1,174 802 827 517 482 600 597 1,254 10,466
CO2liBE[t-C02] 0.40 0.36 0.36 0.37 0.41 0.28 0.29 0.18 017 0.21 0.21 0.44 3.68
BRI AR 15.8% 13.8% 14.0% 13.9% 15.8% 11.1% 11.1% 7.2% 6.5% 8.1% 8.9% 16.9% 11.9%
FR2AEE
IEHH 4R 58 6H 7R 8H 9A 108 11H 128 18 2H 3H =1
BEEHEKWh] 1,287 1,179 1,226 1,133 1,019 975 797 465 261 669 889 1,003 10,904
CO2liBE[t-C02] 0.45 0.42 0.43 0.40 0.36 0.34 0.28 0.16 0.09 0.24 0.31 0.35 3.83
SRR AR 17.9% 15.8% 17.0% 15.2% 13.7% 13.5% 10.7% 6.5% 3.5% 9.0% 13.2% 13.5% 12.5%
FR25FE
IHH 4R 58 6H 7R 8H 9A 108 1A 128 1R 2R 3R =1
BEEHEKWh] 983 1,086 1,210 1,217 996 857 855 493 528 391 597 1,307 10,521
CO2H|E E[t-Cc02] 0.35 0.38 0.43 0.43 0.35 0.30 0.30 0.17 0.19 0.14 0.21 0.46 3.71
SmFI AR 13.7% 14.6% 16.8% 16.4% 13.4% 11.9% 11.5% 6.9% 7.1% 5.3% 8.9% 17.6% 12.0%
FH265EE
IHH 4R 58 6H 1R 8H 98 10AR 118 12R 1A 2H 3H =
BEEHEKWh] 1,406 1,152 1,178 1,234 1,096 1,038 808 589 460 476 985 1,114 11,535
CO2HIE E[t-Cc02] 0.96 0.78 0.80 0.84 0.75 0.71 0.55 0.40 0.31 0.32 0.67 0.76 7.85
BRI AR 19.5% 15.5% 16.4% 16.6% 14.7% 14.4% 10.9% 8.2% 6.2% 6.4% 14.7% 15.0% 13.2%
27 EE
HE 4K 58 6H 7R 8H 9A 10AR 118 128 18 2H 3H =1
BEENEKWh] 1,153 1,216 952 1,022 1,060 943 818 198 0 0 0 0 7,361
CO24liBE[t-C02] 0.78 0.82 0.64 0.69 0.72 0.64 0.55 0.13 0.00 0.00 0.00 0.00 497
SRR AR 16.0% 16.3% 13.2% 13.7% 14.2% 13.1% 11.0% 2.8% 0.0% 0.0% 0.0% 0.0% 8.4%
T84
IEH 4R 58 6H 7R 8H 9A 108 11H 128 18 2H 3H =1
HEEHEKWh] 0 852 956 1,155 1,150 991 724 473 392 562 722 1,342 9,319
CO2liBE[t-C02] 0.00 0.58 0.65 0.78 0.78 0.67 0.49 0.32 0.26 0.38 0.49 0.91 6.31
BRI AR 0.0% 11.5% 13.3% 15.5% 15.5% 13.8% 9.7% 6.6% 5.3% 7.6% 10.7% 18.0% 10.6%
FH29FE
IEHH 4R 58 6H 7R 8H 9R 108 11H 128 18 2H 3H =1
BEEHEKW] 1,155/ 1,210 1,049 1069 1016 331 5829
CO24liBE[t-C02] 0.78 0.82 0.71 0.72 0.69 0.22 3.94
SfEFI AR 16.0% 16.3% 14.6% 14.4% 13.7% 4.6% 13.3%
XENSEHMEMAERDODIAT—2IL. 11BREGH>TNG
% e j] =
B RE/JJE
1,600 kWh 20.0%
1,400 kWh 18.0%
16.0%
1,200 kWh
14.0%
1,000 kWh - 12.0%
800 kWh - 10.0%
600 KWh - 8.0%
6.0%
400 kWh -
4.0%
200 kWh -~ . 2.0%
0kWh - 0.0%
4R 5H 6A 7R 8A 9A 108 118 128 1A 2R 3R
m ER27EE FERk284EE wmm ERH20FE THi28FEE FHiEFIAE
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ERE (BIEEERR HHE 47 5A 6H 7R 8H 9/ 10AR 1A 12R 1R 2R 3A =5
e |[FE)ITH HEENE[Wh] 944 1,903 994 894 1,249 987 2,498 9,469
HAh |20kW CO24liF=[t-C02] 0.33 0.67 0.35 0.32 0.44 0.35 0.88 3.34
BREAE |50° E5 4 1 FA 2= %] — — — — — 6.6% 12.8% 6.9% 6.0% 8.4% 7.3% 16.8% 9.3%
HEEE |FH228E FH23ERE
IHH 4H 58 6H 1R 8H 9H 104 11H 128 1R 2R 3A =5
BEEH=EkWh] 2,291 2,037 1,973 2,145 2,341 1,650 1,643 1,116 998 1,215 1,704 1,964 21,077
CO24lliF=[t-C02] 0.81 0.72 0.70 0.76 0.83 0.58 0.58 0.39 0.35 0.43 0.60 0.69 7.44
BRI BN 15.9% 13.7% 13.7% 14.4% 15.7% 11.5% 11.0% 7.7% 6.7% 8.2% 12.7% 13.2% 12.0%
FH24%EE
IHH 4R 5H 6A 7R 8A 9A 10H 1A 12H 1H 2R 3A a%
HEEH=E[kWh] 2,544 2,383 2,473 2,234 1,997 1,963 1,607 947 561 659 1,746 2,647 21,760
CO2lliF=[t-C02] 0.90 0.84 0.87 0.79 0.70 0.69 0.57 0.33 0.20 0.23 0.62 0.93 7.67
BEEEAYY 17.7% 16.0% 17.2% 15.0% 13.4% 13.6% 10.8% 6.6% 3.8% 4.4% 13.0% 17.8% 12.4%
TR25EE
I5H 4R 5H 68 1A 8A 9A 10H 1A 12H 1H 2R 3R =5
HEEHZ[kWh] 1,903 2,136 2,414 2,426 1,953 1,723 1,716 958 1,093 332 612 959 18,224
CO24liEZ[t-C02] 0.67 0.75 0.85 0.86 0.69 0.61 0.61 0.34 0.39 0.12 0.22 0.34 6.45
BRI BN 13.2% 14.4% 16.8% 16.3% 13.1% 12.0% 11.5% 6.7% 7.3% 4.5% 9.1% 12.9% 11.5%
FR26FE
IHH 4K 58 6H 7R 8H 9H 108 11H 128 18 2R 3R =5
REENEKWh] 2,863 2,272 2,286 2,472 2,183 2,079 1,640 250 889 996 2,001 2,238 22,165
CO24lliF=[t-C02] 1.95 1.55 1.56 1.68 1.49 1.42 1.12 0.17 0.61 0.68 1.36 1.52 15.11
BRI EEYY 19.9% 15.3% 15.9% 16.6% 14.7% 14.4% 11.0% 1.7% 6.0% 13.4% 29.8% 30.1% 15.7%
FR2TEE
HH 4R 54 6H 1R 8H 9R 104 11H 12R 18 2R 3A =5
HEBEBHN=[kWh] 2,344 2,431 1,843 2,117 2,062 1,796 1,516 1,104 824 850 1,022 2,479 20,389
CO24liFZ[t-C02] 1.58 1.64 1.25 1.43 1.39 1.21 1.03 0.75 0.56 0.57 0.69 1.68 13.78
AR A E)] 16.3% 16.3% 12.8% 14.2% 13.9% 12.5% 10.2% 7.7% 5.5% 5.7% 7.6% 16.7% 11.6%
A28
HH 4H 5H 6H 1R 8H 9H 108 11H 128 1A 2H 3R a%
HEBEH=E[kWh] 1,987 2,228 1,687 2,123 2,244 1,973 1,454 961 829 1,320 1,315 2,743 20,865
CO2lliF=[t-C02] 1.34 1.51 1.14 1.44 1.52 1.33 0.98 0.65 0.56 0.89 0.89 1.85 14.10
AR A% 13.8% 15.0% 11.7% 14.3% 15.1% 13.7% 9.8% 6.7% 5.6% 8.9% 9.8% 18.4% 11.9%
TR0
IHH 4H 58 6H 1R 8H 98 104 11H 128 1R 2H 3H a&t
HEEHZ[kWh] 2,312 2,368 2,072 2,166 2,071 2,074 1,805 820 603
CO2HliF = [t-C02] 1.56 1.60 1.40 1.46 1.40 1.40 1.22 0.55 0.41 11.00
BRI BN 16.1% 15.9% 14.4% 14.6% 13.9% 14.4% 12.1% 5.7% 4.1% 12.4%
REBENE
3,000 kWh 20.0%
[/ 18.0%
2,500 kWh 16.0%
2,000 kWh +— A 14.0%
12.0%
1,500 kWh -+ 10.0%
f 8.0%
1,000 kWh —— ~ 6.0%
500 kWh +— 4.0%
2.0%
0 kWh 0.0%
68 78 88 98 10AR 118 128 1R 2R 3R
FR27EE wmm TH28EE wmm EFH29FE FErk28EE HRiEFAE
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ik B HH 48 5H 64 78 8H 98 108 11H 128 1H 2R 3R =k
FRiEHh [BBEATH FEEHEWh] 579 823 328 208 215 243 988 3,385
CO2HIEE[t-C02] 0.20 0.29 0.12 0.07 0.08 0.09 0.35 1.20
% fil R R R [%] — — — — — 8.0% 11.1% 4.6% 2.8% 2.9% 3.6% 13.3% 6.6%
ERE23ERE
IBEH 48 5H 64 78 8H 98 10A 11H 128 1H 2R 3A &%
BEHEKWh] 1,059 1,003 866 983 1,096 828 726 411 188 251 323 629 8,361
CO2HIEE[t-C02] 0.37 0.35 0.31 0.35 0.39 0.29 0.26 0.15 0.07 0.09 0.11 0.22 2.96
%l F) R 2R %] 14.7% 13.5% 12.0% 13.2% 14.7% 11.5% 9.8% 5.7% 2.5% 3.4% 4.8% 8.5% 9.5%
FH24%EE
IBEH 47 5H 64 78 8H 98 108 118 128 1H 2R 3R =5
HEEHEkWh] 1,056 1,181 1,186 1,034 1,005 944 659 309 123 121 405 1,017 9,038
CO2HliE &[t-C02] 0.37 0.42 0.42 0.37 0.35 0.33 0.23 0.11 0.04 0.04 0.14 0.36 3.18
%l F R 2R [%] 14.7% 15.9% 16.5% 13.9% 13.5% 13.1% 8.9% 4.3% 1.7% 1.6% 6.0% 13.7% 10.3%
TRR25E
BEH 47 5H 68 78 8H 98 108 118 128 1H 2R 3R =k
HEEHEWh] 1,011 995 1,165 1,127 950 808 723 334 270 739 1,257 1,928 11,307
CO2HIEE[t-C02] 0.36 0.35 0.41 0.40 0.34 0.29 0.26 0.12 0.10 0.26 0.44 0.68 401
% i F) B R [%] 14.0% 13.4% 16.2% 15.1% 12.8% 11.2% 9.7% 4.6% 3.6% 6.6% 12.5% 17.3% 11.4%
TH26FE
IR 47 5H 68 78 8H 98 108 118 128 1H 2R 3R =k
HEEH=kwh] 1097 1,089 1,065 1,187 1,093 1,016 731 443 157 247 696 947 9,767
CO2HIEE[t-C02] 0.75 0.74 0.73 0.81 0.74 0.69 0.50 0.30 0.11 0.17 047 0.64 6.65
% il F) B R [%] 15.2% 14.6% 14.8% 16.0% 15.2% 13.7% 10.2% 6.0% 2.1% 2.3% 6.2% 8.8% 10.4%
TR27TEE MEHERDAIBRT—RIE. 268D EHE-TLVET,
BB 48 5H 64 78 8H 98 10A8 11H 128 1H 2R 3R =1
FEEHEWh] 1,153 1,271 861 981 1,086 875 631 498 207 247 696 947 9,452
CO2HIEE[t-C02] 0.78 0.86 0.58 0.66 0.73 0.59 043 0.34 0.14 0.17 047 0.64 6.39
% fil F) R R [%] 16.0% 17.1% 12.0% 13.2% 14.6% 12.2% 8.5% 6.9% 2.8% 3.3% 10.4% 12.7% 10.8%
A28
IBEH 47 5H 64 18 8AH 98 10A 11H 12H 1H 2R 3A =1
#EEHEkWh] 1,096 1,269 980 1,145 1,138 1,070 485 183 205 292 421 1,182 9,467
CO2H|EE[t-C02] 0.74 0.86 0.66 0.77 0.77 0.72 0.33 0.12 0.14 0.20 0.28 0.80 6.39
%l F R 2R %] 15.2% 17.1% 13.6% 15.4% 15.3% 14.9% 6.5% 2.5% 2.8% 3.9% 6.3% 15.9% 10.8%
TR0
IBEH 47 5H 68 78 8H 98 108 118 128 1H 2R 3R &%
H*EEHEkWh] 1,075 1,156 977 1,010 1,054 1,005 756 222 161 7,416
CO2HliE &[t-C02] 0.73 0.78 0.66 0.68 0.71 0.68 0.51 0.15 0.11 5.01
% fil F) FR 2R [%) 14.9% 15.5% 13.6% 13.6% 14.2% 14.0% 10.2% 3.1% 2.2% 11.3%
e B
REBN=
2,000 kWh 18.0%
1,750 kWh - 16.0%
1,500 kWh - 14.0%
- 12.0%
1,250 kWh
- 10.0%
1,000 kWh
- 8.0%
750 kWh
- 6.0%
500 kWh L 4.0%
250 kWh — I I L 2.0%
68 78 8H 9A 108 118 128 18 28 3A
FRE274E wmm ER284EE wmm ER20EE TR28FEE HREFAE
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MEE% HHE 47 5A 6H 7R 8H 9/ 10AR 1A 12R 1H 28 3A =5
Cige:ul BEEHEKWh] 1,410 1,554 704 405 450 863 1,424 6,809
HAh CO24liF=[t-C02] 0.50 0.55 0.25 0.14 0.16 0.30 0.50 2.40
BREAE A A — — — — — 13.1% 13.9% 6.5% 3.6% 4.0% 8.6% 12.8% 8.9%
REFE T3 E
IHH 4H 58 6A 1R 8A 9AR 10AH 1A 12H 18 2R 3R =5
BEEH=EkWh] 1,685 1,487 1,369 1,494 1,583 1,586 1,291 679 297 483 1,253 2,172 15,379
CO24lliF=[t-C02] 0.59 0.52 0.48 0.53 0.56 0.56 0.46 0.24 0.10 0.17 0.44 0.77 5.42
BRI BN 15.6% 13.3% 12.7% 13.4% 14.2% 14.7% 11.6% 6.3% 2.7% 4.3% 12.4% 19.5% 11.7%
FR24FE
IHH 4R 5H 6H 7R 8H 9AR 10H 11H 12H 18 2R 3R =
BEEN=[kWh] 1,889 1,512 1,780 1,347 1,620 1,227 1,278 489 242 450 863 1,424 14,120
CO2HI £[t-C02] 0.67 0.53 0.63 0.48 0.57 0.43 0.45 0.17 0.09 0.16 0.30 0.50 4.98
BE RSN 17.5% 13.5% 16.5% 12.1% 14.5% 11.4% 11.4% 4.5% 2.2% 4.0% 8.6% 12.8% 10.8%
TRR25E
I5H 4R 5H 6H 7R 8H 9AR 108 11H 128 18 2R 3R =5
BEN=E[kWh] 1,812 1,335 1,686 1,896 1,280 1,482 1,406 741 417 483 1253 2172 15,964
CO24liEZ[t-C02] 0.64 0.47 0.60 0.67 0.45 0.52 0.50 0.26 0.15 0.17 0.44 0.77 5.64
BRI BN 16.8% 12.0% 15.6% 17.0% 11.5% 13.7% 12.6% 6.9% 3.7% 4.3% 12.4% 19.5% 12.2%
TH26FE
IHH 4K 58 6H 7R 8H 9H 108 11H 128 18 2R 3R ait
FREENEWN] 2,041 1,530 1,525 1,576 1,681 0 1,137 968 0 563 1,113 1,401 13,534
CO24lliF=[t-C02] 1.39 1.04 1.04 1.07 1.14 0.00 0.77 0.66 0.00 0.38 0.76 0.95 9.20
BRI EEYY 18.9% 13.7% 14.1% 14.1% 15.1% 0.0% 10.2% 9.0% 0.0% 5.0% 11.0% 12.6% 10.3%
TR27TEE XHEASKDOOA. 128X, T—2DFHAINHEFEFLATLE
HH 4R 54 6H 1R 8H 9R 104 11H 128 1H 2R 3A a5t
EEHEKWh] 1,666 1,735 1,323 1,312 972 1,632 1,274 948 200 218 219 1,721 13,221
CO24liFZ[t-C02] 1.13 1.17 0.89 0.89 0.66 1.10 0.86 0.64 0.14 0.15 0.15 1.16 8.94
AR A E)] 15.4% 15.6% 12.3% 11.8% 8.7% 15.1% 11.4% 8.8% 1.8% 2.0% 2.2% 15.4% 10.0%
TR 28EE XERNEROIA.1281F. T—2DFRIAHRFEFEHATLE:
HH 4H 58 6H 1R 8A 9A 10AH 1A 12H 1A 2R 3A ast
EEN=E[kWh] 1,586 1,918 1,454 1,544 1,562 0 789 367 399 601 925 2,043 13,188
CO2lliF=[t-C02] 1.07 1.30 0.98 1.04 1.06 0.00 0.53 0.25 0.27 0.41 0.63 1.38 8.92
AR A% 14.7% 17.2% 13.5% 13.8% 14.0% 0.0% 7.1% 3.4% 3.6% 5.4% 9.2% 18.3% 10.0%
TR0
IHH 4R 5H 6H 7R 8H 9A 10H 11H 12H 18 2R 3R a&t
BEEN=[kWh] 1,734 1,730 1,256 1,304 1,363 1,740 9,127
CO2HIR £[t-C02] 117 117 0.85 0.88 0.92 1.18 6.17
BE RSN 16.1% 15.5% 11.6% 11.7% 12.2% 16.1% 13.9%
XHEERNEROIAT—HIL. 28R EHE->TUVET,
2,500 kWh 20.0%
18.0%
2,000 kWh 16.0%
14.0%
1,500 kWh 12.0%
‘ 10.0%
1,000 kWh . 8.0%
6.0%
500 kWh — - 4.0%
I I I 2.0%
0 kWh ‘ 0.0%
58 68 78 88 98 10AR 118 128 1R 28 3R
FRL27EE wmm TRE28EE wmm TRR29EE TR28FE HRiEFARE




